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O BA 8ZTelAR MBYS IHaE
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01 et ESFH S 2,000 2,000 0
O gz E AsD] 2,000,000& = 1CH 2,000
A AR (MHALE) 108,522 116,284 ANT,762
MHHP 108,522 116,284 NT, 762
101 @124 dl 48,654 54,134 A5,480
4 DIt Z2XREES 48,654 54,134 A5,480
O NAFLRX L 2B Ex
66,8003 * 2% x 262 » 63 20,842
O NAFLX L IS ZR MEAZ JHat
= 10,8803 = 29 = 262 » 63 3,395
O 4U2ES(II2223) 24,236,160 * 11% 2,666
O &8s M=&g o8 L&l
66,8003 * 48 » 70& 18,704
O 808 M= 8 MEAz Itdts
10,8803 * 4% » 70 3,047
201 2et24d] 45,050 42,300 2,750
01 At 2teltl 36,450 33,700 2,750
O g+t 36,450
- MExy EhHsSI =
55,0003 * 8Al2H * 153 6,600
- M2 ESIEX ¥ USSR B2
=0 S 70,000& * 15004 * 23] 2,100
- NHHFSX 20IEY 2as=HE
50,0003 = 20012 = 33 3,000
- o= L QR A HUlIYXE(20)
550,000& = 45¢ 24,750
02 =224l 8,600 8,600 0
O 3322 % HA 300
- NEHY sSNSKH EE2
300,000& * 1CH 300
O X+& & el 8,300
- SE3ESX 8,000,000& « 1CH 8,000
- NEHYE NS RFHI
100,000& * 3& 300
206 = Hl 11,818 19,850 A 8,032
01 =8l 11,818 19,850 A 8,032
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O oA « &2 #Z2FHH S
300,000& = 2& * 83l 4,800
O 20lst&EA 4235 100,000& * 12& 1,200
O =MHE ZH(HAU HEBS ATH)
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O HM&JI(EdHE) RF X
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30,000,000 = 14! 30,000
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O 2=12] 22U Z2AH(2=22 L=120m)
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- AN AXE A= 500,000& = 13l 500
-d2E 0 gz 60,000 * 123 720
- StEAHIO exs 22,9003 « 30 + 128 825
02 =24l 51,248 50,594 654
O 332=2 % HMA 29,096
- FUSE S RERS
1,930& = 6004 =« 123 13,896
- HILIB(EAM, HOEEH 8)
1,000,000& = 12& 12,000
-H3R3 1,000,000 * 14 1,000
= =] 100,000& * 123 1,200
- e xFEAL Y AESE
1,000,000& * 14 1,000
O A=zl 5,652
- APRA HE A=
942@ * 50 * 10AI2F = 120 5,652
O AIEEH KX H 8,500
- A Ad22el 3,000,000& * 14 3,000
- HIEEH |RNES S 1,500,000& = 14 1,500
- DAY RAES(SELII S)
4,000,000& 14 4,000
O XH& & el 8,000
- AEIENH(RIU, NASKH B8 S)
5,000,000& « 1CH 5,000
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N = 0] &F AF S & AN A
20199 &= =20l & L BES A, DI EF Sl HEts ~ 2428
SN 2825
Hu: HH=NMEHSY(RH2S)
ool BHSXNMESY(E2E) (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
242 760,005 697,206 62,799
HHZSRNMHSIE (BH2S) 356,862 351,211 5,651
HMEINMHI (ERE) 352,022 341,371 10,651
HH=2XNHEHSH 242 722 235,071 7,651
101 @121 ] 9,322 8,631 691
04 JIZtHIZ22XNSE S 9,322 8,631 691
O & sH3EH 22X B4
66,800 * 3¥H x 40g 8,016
O 22U sHEH 22X M=z Jar2
10,880& » 3% * 40Y 1,306
201 gEt24Hy| 3,500 3,500 0
01 AP 2t 2] H| 3,500 3,500 0
O g9y 3,500
- BtHHHIE St oHLHE HI &
250,000 * 6IH A 1,500
- Bt HHIE /S AHUHES H A
300,000& * 33| 900
- Mol S 2™l -l Xt
550,000& * 23| 1,100
204 = 2 4= A H| 2,400 2,400 0
03 SEHLR2AH| 2,400 2,400 0
O N2 100,000& * 299 = 128 2,400
206 M = Hl 5,000 5,000 0
01 X2 H| 5,000 5,000 0
O SdEH =X L S HE el
1,000,000& = 23| 2,000
O J2¥ & Z2IAY M 7Y
500,000 * 63| 3,000
301 Bt A= 222,500 215,540 6,960
05 S& -0& -BtEEsEA= 222,500 215,540 6,960
O Eg&xd 213,200
-Jl2x4 200,000& = 659 * 128 156,000
- a2 200,000& * 65H * 23] 26,000
- EE-2EN=
20,000& = 65H * 23] ~ 12& 31,200
O eH&E =g 25,0008 * 186Y * 23| 9,300
FOXNXMEH2H 109,300 106, 300 3,000
201 et d| 104,800 99,600 5,200
01 AR 22l ] 98,000 96,000 2,000
O 294 44,400
- FORXSALE Bl HAag
20,000 * 2501 = 12& 6,000
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M HH2ALH(RH28)

& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JlE&l 322,326 272,406 49,920

201 £B-2d| 250,346 213,266 37,080
01 At 22l 205,346 171,376 33,970
O ger==&Hl 29,676
- LEIAIRES 200,000& = 23| = 12& 4,800
- SEUALZI AZE(EYH S)
300,000& = 741 = 43| 8,400
- SAEX 26,5003 * 202FA « 12& 6,360
- RIRNA U BERE
250,000& * 48 = 23] 2,000
- NBESRIEY L B4 A
2,000,000& 14 2,000
-2 S ENTY 78,0008 * 122 936
- FOEH 2A K
70,000& = 78 « 23| 980
- EA 23 EH 150,000& * 12& 1,800
- EA R0&H 292 200,000& » 12& 2,400
O ezl 30,000& = 1¥ = 365¢ 10,950
O S&l 16,320
S MEXEHSHER U gL Ed
8,000& = 17 * 103 * 123 16,320
O gxz 148,400
- A EXE 11,000,000& * 12& 132,000
- FXE gdX=E 1,000,000& = 12& 12,000
-d=) s X= 200,000& = 12& 2,400
-YXE MEES A HHEINN S
1,000,000& » 23] » 1JH A 2,000
02 =224l 45,000 41,890 3,110
O 32322 % HMA 33,700
- REeI 2,100& = 7504 « 12& 18,900
-dIIe3 1,000,000 = 12& 12,000
-gESHRsS 75,000& « 123 900
-2AE === 200,000& 14 200
- 2ENHEEEE 700,000& = 13l 700
- ®0te SAUXNE(HEIIX) AHSIUHAM 2
= 1,000,000& = 1CH 1,000
O A& ZHIKRXH 6,300
- ANE JRXE* & 2,000,000& 14 2,000
- dFEH |FXNES S 500,000& « 14 500
- SEUREE) RAEx EE2
3,800,000& 14 3,800
O A& H eyl 5,000
- 2EXNE KU 3,000,000& « 1CH 3,000
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- &0pJte SXAXNSF(MIIX) g2
2,000,000& * 1CH 2,000
202 (4] 45,880 43,240 2,640
01 2L Y] 1,000 1,000 0
O gy =4 50,000 * 10¥ = 23] 1,000
02 MY 44,880 42,240 2,640
O EHNYI 220,000& = 174 * 12& 44,880
203 g R =& 12,600 12,600 0
01 J|22H L R=AH| 9,000 9,000 0
O S&(82t0I8tH) 9,000,000& * 14 9,000
04 ENSIHRF=EY| 3,600 3,600 0
O 8B42=(200Q! 0lat) 300,000& « 12& 3,600
204 &R = A H| 1,800 1,800 0
01 XS RHFH| 1,800 1,800 0
O s& 150,000& * 1¥ = 12& 1,800
405 XHo&HFE SHI 11,700 1,500 10,200
01 JHMY = ZF S H 11,700 1,500 10,200
O 2401013 s 600,000& * 24! 1,200
O 3oa A S 250,000& = 304! 7,500
O 3oa ot S 60,000& =* 504! 3,000
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